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accumulatel (L) :- accumi(1,L).

accuml(6, [1).
accuml (N, [N|X]) :- N1 is N+1, accuml1(N1,X).

?- accumulatel(L).
L = [1’253:4,5]
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accumulate2(L) :- accum2(1,L,[]).

accum2(6,S,S) .
accum2(N,L,S) :- N1 is N+1, accum2(Ni,L,[N|S]).

?- accumulate2(L).
L = [5,4,3,2,1]
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1. 0000 X=(Xy,...,Xn), Y=(Y1,...,Y,) 00000000 [Xy,... X0], [Y1,..,Y4]
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i=1
inner_product(X,Y,IP) 000000000000 O0O0OOOOO

inner_product([],[],0).
inner_product ([X|X1], [YIY1],Z) :- inner_product(X1,Y1,Z1), Z is X*Y+Z1.

00000000000000 innerproduct2(X,Y,JP) 00000000000
inner_product2([1,2],[3,4],JP) 0000000 IP=11 000000000
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t(Node,Tree,Tree) | t(Node,Tree) | Node

Tree ::
Node ::

Integer
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